HENEREREHES
SHM4FE12H12H (H)

Mt

$:550) (847 : kg)
EES G miER B = = 1B Z 1B " =

S 238 T 632.7 396 20
JU 236.6 159 38
£S5 2,610.6 1,250 392
AATHLA 310.3 800 150
JUFHLA 99.1 1,431 31
LSHLA 2,301.9 640 20
TFELSHLA 621.6 1,385 341
=EHLA 70.3 459 81
IALA 866.7 619 100
RIHLA 50.7 1,029 209
2O9F 777.2 319 20
<7+ 125.0 1,425 650
SCat 925.6 1,069 239
Skt 36.0 3,296 1,442 500
FHA 2,627.7 366 20
F7> 07 868.8 1,338 129
HIHS 962.8 43 20
=L S 22.2 1,111 150
FAFA 41.8 1,390 99
2% 2,879.3 370 59
SEL LRl 198.9 493 229
<99 57.0 369 150

o 17,322.8




[f¥fa] (BT ¢ kg )

EES G b B = = 1B Z 1B " =

HE 238 s YN 108.0 | 36,960 3,339 |nn 2
AAOFASFF 44.6 1,375 50
HH=EA 41.2 40 20
JEZHAN 123.4 118 40
SF A 315.0 609 20
REIR 43.9 1,059 463
< k5o 238.5 559 21
TUAB 224.4 1,200 169
7 U A 145.0 4,559 1,111 [oo 2"
D2 ROAB 147.0 381 291
<43 33.6 1,289 698
=243 39.8 1,219 693
vFES3 25.7 89 40
*F3<3 549.9 1,689 800

EHE 19,402.8




(B : kg)

€:3=2)
RETENE gy M 2 = 1B Z fB fm &
EERFE 73% [T 31.2 540 21
Ju 1,210.2 111 20
ESX 56.5 2,303 200
o045+ 30.4 800 200
HFHES 95.0 60 21
>OX/VL 47.7 1,640 700
905 182.8 2,290 800
ZXF 326.1 564 300
JEZHRN 40.7 111 20
HFIA 545.6 2,440 1,219
TRIIR™ 40.2 1,800 189
HY= 33.2 2,921 500
UM 5% Ju 65.9 30
BT 7% Ry FHA 2,000.0 669 251
e 24t IHIA 56.5 169 70
ESWXHZ 23.3 619 89
EXIVRS 328.9 192 100
aitsE 5,083.0




[(&£) (BT ¢ kg )
JRETELE BfEg n = = 1B /[E] B &
K 232 E=5X 160.8 2,300 1,000
<73 598.5 1,500 1,300
EEXRIFE 738 |E5X 1,539.0 2,500 700
A2HLA 21.2 1,200 600
<AL A 22.6 1,000 300
+77>37 33.3 800 400
XXF 141.0 700 400
NSO 24.4 6,000 2,000
AERE 192 NSO 378.0 8,500 3,000
#D 20 E=5X 134.7 3,000 1,300
T 24 <A 1,285.5 1,600 800

D
[ =]

T2

4,339.0




